EENNEDS
C  POPSS
EEENEDS

fc;ﬂ/o/‘f/}y Fonewabte 5@/7}

Tm Type

Modular Low Level
Support Structure

Installation & Users
Manual

SN L

2| | NS

Manufactured in the UK

000 505 issue 2 August 2023



Tm Type Installation and users Manual BDS
Low level Structures

INTRODUCTION 3
HEALTH & SAFETY 4
STRUCTURE ASSEMBLY ....uvviiiutieiiteeeeiteeeetteeeeeeeeiseseeseseessseesseseessseaessseessessssseeetsseesssessesesnsssesssesssssessesesssssessnsessnses 4
ELECTRICAL INTERCONNECTION .....coeiiiitttieeeeeitteeeeeeetueeeeeeeiuseeeeeesseseeeeissseeseeesssseesaessseeseesssseseesassessesesssseeesassesseeanns 4
INSTALLATION SEQUENCE 4
PART IDENTIFICATION ...ooiiitieeeeeeetteeeeeeetteeeeeeeteeeeeeetaeeeeeeaseeeeeeessaeaeeeesseseeseessssaeseesssseeeaaseseeeeansssseesenssseeesenssreeeeeanes 4
A2 7N N £ NAY/0) 324 23 0 1 SRS 4
ASSEMBLY OF SUB ARRAYS 6
ASSEMBLY OF THE 2 MODULE STRUCTURE .......ccvvtieutteeireeeiteeeeteeeereeeetseeessseeesesessseesssseessesensseessssessseessssessssessnsseenns 6
MODULE PREPARATION. .....cuvtiiittieiteeeetieeeteeeeteseesseesseessasesaessssassssesssssasssssassessasssssnsssssssessassessssssessasesssssssssessnseeenns 6
SUB ARRAY TUBE PREPARATION ......cutiiiuiieiiuieeeteeeiteeeeteeeeiseeeeseeeesseeesesessseessssesssssessssesnsssssisssesssesssssessssessnsseesnses 6
SUB ARRAY ASSEMBLY ....uvviiiuvieiteeeeteeeetteeeeeeeeiseseeissseessseesseseessesessseessesesssesstsseetsssessesesnssssssssssssessssssssssesssssessnses 7
ASSEMBLY OF SUPPORT LEGS TO THE SUB ARRAY 8
FRONT LEGS ...ttt ettt e e et e e e e te e e tee e eaae e e etteeeteeeenseeeaeeeeateseesseeeseeeenseseesaeeenseeeanseeeseeeans 8
REAR LEGS ...ttt ettt e et e e ettt e e e e eaae e e e etaaeeeeeeateeeeeeessaeaeeeeaasseeesasseeeesasssseeeensseseeeenssreeeeeanes 8
SLIDE CLAMPS ..o ctvieeeteeeetee ettt e eeteeeeiaeeeetaeeeeteeeeaeseesseseeseseeseseessseaessseaseseassseenteseesseeeassseensseessseeeesseesnseeennseeenseeeenes 8
REAR STRUTS ...ttt ettt ettt ettt e et e e e ettt e e e e et eeeeeetaaeeeeeetaeeeeeeeasasaeeeeaasseeeeansseeeesassseeeeenssesaesenssreeeeeanes 8
BASE SWIVEL ...ciutttieeeeeieeeeeeetee e e eeetae e e e e eaete e e ettt e e eeesaeeeeeeeteeeeeeesaaeeeeeeassseeeaasasseeeeassesseseasseseeeeseseeeeetaseeseeaeeeeeann 8
STRUCTURE PLACEMENT ......uceiitiiiitteeeteeeesteeeeteeeeseesesesessesseseseassessasssseessseasesessssesssssesssseeasessansesesssessnseseeseesnseeesnses 9
INSTALLATION OF THE ARRAY ONTO A BOLTED FOUNDATION. ......ccoutiiiuiiiitieieteeecieeeeteeeeeneeeeeteeessveseeneeeenveesenneeennes 9
INSTALLATION OF THE ARRAY ONTO GROUND POLES. ......ueiieiuiieitieeeieeeereeenseeesseeeesseeesseeeseeessseessesessseesesssesssesens 10
ADDING ADDITIONAL MODULES.......uuuiieiiiittteeeeeiteeeeeeeseeeeeeiiseeessesaeesssastsseesaessesseeaasarssessassesessessesessensseeesesrrsees 11
BARTHING ...utviiettiiecteee ettt ettt eete e et e et e e etee e tveeeteeeeeaeeeetseeeasaeeeaseeesseeeasasesseeensseeesssesnseesesseensseeesseessaeenssens 11
PARTS LISTS 12
LAYOUT DRAWINGS 13
COMMISSIONING TESTS 15
SUPPORT STRUCTURE .......cuutiieieeitteeeeeeeiteeeeeeeiteeeeeaeetreeeeaeisesaesaesaseeeeaetaeseeeeaetaseeeeesseeeeeaessassesaesssseeeaaasssseeeanseeeeeanns 15
MAINTENANCE 15
NI 0) 281 (6] 518) 5 21 SR PR 15
ARRAY STRUCTURE.......cuttieeiietteeeeeeiteeeeeeeitteeeeeeiaeeeeeeetaeaeeeetseesseeasesaeseeteseesaasseseeaassseeesassssseeeasssesessenssseeesensreeeens 15
) 1 S PR 15

Recommended tightening torques on the fasteners used on
T type structures.

M6 module fixings 7.6Nm
1?/18 module fixings 15.4Nm
Grubscrews 39Nm
M10 Anchor bolts 30Nm

000 505 issue 2 Page 2 of 16 August 2023



BDS Installation and user manual Tm Type
Low level Structures

INTRODUCTION

This manual provides a basic guide to the assembly of the low level support structure, it is recommended that
you read through the manual before attempting to assemble the structure taking note of the health & safety
issues detailed below. The structures are supplied in kits starting with a 2 module structure to which
additional extensions are then added to provide the required array size as detailed below:-

Number 2 Module 2 Module Leg se-t Leg set
of Aray extension foundation eround
Foundation Type Modules
001061 001 065 001 066 001 067
2 1 2
3 1 1 3
4 1 1 3
5 1 2 4
6 1 2 4
7 1 3 5
8 1 3 5
Number 2 Module > Module Leg set Leg set
Ground poles- non of Array extension foungft'on g;zfensd
foundation Modules
001061 001 065 001 066 001 067
2 1 2
3 1 1 3
4 1 1 3
5 1 2 4
6 1 2 4
7 1 3 5
8 1 3 5

000 504 issue 2 Page 3 of 16 August 2023



Tm Type

Installation and users Manual BDS
Low level Structures

HEALTH & SAFETY

Structure Assembly

Construction must not be attempted in high winds. Care must be taken in lifting large solar panels.
Some of the structural components may have sharp edges, take extra care when handling.

When using ground poles, please ensure that the area of installation is free from underground pipework
and cabling.

Electrical Interconnection

Potentially lethal voltages can be developed from arrays. Take the following precautions:
Electrically isolate the array from the rest of the system.

The modules should be shaded from the sun by opaque sheeting before any electrical connections are
made to the sub-array junction boxes or at the control unit.

WARNING- DO NOT PUT YOUR FINGERS IN THE ENDS OF THE STEEL TUBES, SHARP EDGES

INSTALLATION SEQUENCE

Part Identification

Refer to the drawings, photographs and parts list within this manual to familiarise yourself with the
components of this structure prior to attempting assembly.

What's Involved?

Concrete foundations may be required for this structure, a basic guide to foundations is shown in this
manual, but it is suggested that you consult a local civil engineer to establish local ground conditions.
Foundations (supplied by others) are to be left to settle for a period of 28 days prior to the installation
of the structures.

Preparation of tools, and checking that all components are present.
Assembly of the first 2 module structure

Fitting additional extensions to the structure to establish the required array size.

Compass

To ensure correct orientation

Tape measure (5 metres long)

Measure out mounting points etc.

Post hammer

To insert the ground tubes (if required)

Hammer drill

To drill the footings

10mm masonry bits

To drill the footings

Hammer

To tap in the ground anchor bolts

Allen key (%4") (SUPPLIED)

General structure assembly

Chalk/felt marking pen

Mark out correct mounting positions

10mm / 13mm A/F spanners

Module mounting bolts

Zinc touch up paint and brush (Galvafroid)

For touching up transit damage

17mm A/F spanners

M10 fasteners and ground anchor bolts

Sponge, cloth and clean water

For cleaning the modules

Opaque sheeting

To shade the modules as required

Inclinometer (angle setter)

To ensure the correct tilt angle is set

Recommended tools for structure assembly.

000 505 issue 2

Page 4 of 16

August 2023



BDS Installation and user manual Tm Type
Low level Structures

2 \ W \._V \
\\\'\\\\\&\\\\\
! \

Right angle clamp End cap Ground anchor bolt

Swivel base clamp Slide clamp Module clamp

Internal joiner External joiner

Note, the side clamps may be supplied in 2 parts, to be bolted together with the M10
galvanised steel fasteners supplied. Once the structure is fully assembled, these M10
fasteners must be tightened to a torque of 35-40Nm.

000 504 issue 2 Page 5 of 16 August 2023



Tm Type Installation and users Manual BDS
Low level Structures

ASSEMBLY OF SUB ARRAYS

Assembly of the 2 module structure

The first stage is to assemble the first 2 module structure kit, the following describes a suggested
method for assembly, as this is a 2 module structure it is easier to assemble this with the modules face
down then turn the whole assembly over once complete. We will assume that the structure required is
for more than 2 modules and that the first 2 modules are the two on the left when facing the front of the
array. If the final structure is a 2 module structure then the only difference is that the array poles can be
fitted centrally.

Module Preparation

Lay the solar modules face down on a smooth flat surface that will not damage the glass, leaving a
10mm gap (approx.) between the two panels. Ensure all the module junction boxes are grouped
together on one side. Note - it is important to protect the back of the modules during assembly, use
sheets of cardboard so that any smaller components dropped on the back of the module do not damage
the module backing material.

Sub Array Tube Preparation

Locate the sub-array tubes. They can be identified by measuring their length and comparing them with
the values in the parts list at the back of this manual. To ensure that you are able to obtain a full tilt
angle range, it is important to fit the module clamps onto the sub-array rails correctly. First measure
the distance between centres of the mounting holes on the rear of the solar panels as shown below:

Distance between mounting hole centre

If the distance between the mounting hole centres is 100cm or less then the module clamps must be
fitted so that they point outwards towards the ends of the modules.

If the distance between the mounting hole centres is more than 100cm then the module clamps must be
fitted so that they point inwards towards the centre of the modules.

For the purpose of this manual we will assume that the hole centres is greater than 100cm

Upper Sub array Tube - Slide the Tee clamps and module clamps onto one length of tube. The upper
tube is fitted to the junction box end of the modules. Position the clamps so as to line up with the
mounting holes on the modules taking note of the above with regard to orientation of the module
clamps.

Lower Sub Array Tube - Slide the right angle clamps and module clamps onto one length of tube.
The upper tube is fitted to the junction box end of the modules. Position the clamps so as to line up
with the mounting holes on the modules taking note of the above with regard to orientation of the
module clamps.

Note - Only tighten the clamps sufficiently to stop them sliding on the tube, they will need to be
adjusted when the support legs are fitted later.

Sub Array Assembly

000 505 issue 2 Page 6 of 16 August 2023



BDS Installation and user manual Tm Type
Low level Structures

Lay the tube assemblies on to the back of the solar modules as shown and position the module clamps
so as to line up with the module mounting holes.

Using the M6/M8 fastener kits, bolt the module clamps onto the modules as shown below (we have
assumed M8 in the drawing).

Solar module frame W

Stainless steel
module clamp

Sub-array tube

. M8 washer
——— M8 Spring washer

=717 M8 x 30 Hex set screw

Module fixing details (Alternative M6 fasteners supplied for some modules).

) L

0

ol
O]
o

O
=

2 module sub-array assembly with off-set array tubes to allow for extensions to be added

000 504 issue 2 Page 7 of 16 August 2023



Tm Type Installation and users Manual BDS
Low level Structures

Assembly of the support legs to the sub-array

Ensure that the Tee clamps on the back of the array are in the correct position as shown in the detailed
drawing at the back of this manual. Their separation must correspond to the separation of the
foundation points for the structure. The position of the clamps are easily adjusted by loosening the grub
screw using the Allen key supplied, moving the clamp and then re-tightening the grub screw.

/ Swivel clamp - closed half

Swivel Clamp

Assembled

Rear Leg

Rear Strut

Module Clamp

T I
ee Clamp Corner Clamp

\

Solar panel (face down)

Figure 6.1 : T structure final assembly.
Front legs — 720mm

Fit the front legs into each of the right angle clamps on the lower sub array tube. Tighten the grub
screws using the Allen key to secure the tubes.

Rear legs — 1630mm

Fit the rear legs into the right angle clamps on the lower sub array tube. Tighten the grub screws using
the Allen key to secure the tubes.

Slide Clamps

Now add the slide clamps to the rear legs and set to approximate tilt angle required, the tilt angle must
be checked when in position. Note this clamp may be supplied in 2 parts and bolted together using the
M10 fasteners provided.

Rear Struts — 1040mm

Insert each rear strut between the slide clamp and the corresponding tee clamp on the upper sub array
tube. Tighten the grub screws using the Allen key to secure the tubes.

Base swivel

On the end of each leg fit the closed half of the swivel clamp and tighten into place.

000 505 issue 2 Page 8 of 16 August 2023



BDS Installation and user manual Tm Type
Low level Structures

Structure placement

The assembled array can now be turned over and placed carefully on its feet, If the structure is to be
used with concrete foundation then attach a footplate to swivel clamp halves on the bottom of each leg
prior to turning the structure over. With the Non-foundation version the open half of the swivel clamp
will be pre-fitted onto the ground anchor tubes that have been positioned into the ground as shown later
in the manual.

Installation of the Array onto a Bolted Foundation. (Foundation type only)
The array must be secured to foundations.

Anchor bolts (expanding) are fitted as illustrated below. It is best to drill and fit only one anchor bolt in
each foot (preferably the one that will be difficult to get at when the assembly is finally positioned).
Drill the holes 95mm deep with a 10mm masonry bit.

Place the sub array in position and mark out the other holes.
Remove the sub array, drill the remaining holes and fit the anchor bolts.

Replace the sub array over the anchor bolts and fix down.

1 Using a masonary bit 2 Clean out the hole  3Pass parabolt 4 Tighten up the nut using
drill @ hole using the by blowing air into it. through the foot a spanner. The recommended
foot as a template. into the hole with torque is 2.3kgm

the nut in place
and gently tap.

E y

T T T
L 2 X | XX X U\\j/A X ! XA
R a2 oA R >
KK K K K LK K KK K
80mm XA X A RN 22 XA e
K KK NGNS LSS KKK
X R RO 7 =<y —% G =2
KK K KK K L < XK K
RN TR U DXL
PN SRS EAYSONS SEK
RR DR, RR RIRRY,
DI DI SO DN
Fixing of Anchor bolts.

000 504 issue 2 Page 9 of 16 August 2023




Tm Type Installation and users Manual BDS
Low level Structures

Installation of the Array onto ground poles.

If your structure is supplied with ground anchor poles, you will need to follow these instructions for the final
placement of the structure.

1. Your kit will consist of 2 part swivel combination clamps c¢/w M10 fasteners to secure, these are to be
fitted onto the ends of each leg so that the clamps swivel front to back.

2. Install the 4 ground poles as shown on the structure drawing, making sure that they are positioned
correctly, the distance front to back (north/south) is more critical than the distance sideways
(east/West). The installation of the ground tubes will depend upon the ground conditions, a mechanical
post knocker is recommended for this.

3. [Ifthe top of the tube is damaged during installation, cut the top off with an angle grinder or Hacksaw
and paint end with zinc rich paint.

4. Making sure the grub screws in the swivel combination clamps allow the tubes to pass through the
clamps, position the structure onto the four ground poles.

5. Lift the structure to just above the ground level and tighten the grub screws.

6. Fita plastic end cap onto the top of each ground tube.

Plastic End Cap

‘\‘

Swivel Comination clamp N ol
Ground Level EJ 1
EEEEFEELE
7 =A== = =
LTI [T
il = = = =
AT | Sl
M10 Fasteners AN [l
== = B
*\H‘:H\ﬁ ﬁ!“:‘\ (@)
l=h=l T
L !

000 505 issue 2 Page 10 of 16 August 2023



BDS Installation and user manual Tm Type
Low level Structures

Adding additional modules

The modular T type structure allows you to add additional modules up to a maximum of 12 modules per
structure, should you require more than 12 modules then it is advised to start a new array either alongside the
original one or behind making sure you allow enough distance to prevent shadowing. Additional 2 module sub-
arrays can be easily fitted to the end of the off-set array tubes using the pole joiners as shown below:- If an odd
number of modules is required I.E. 3, 5, 7 Etc. then the final array tubes can be cut down to suit ensuring that a
minimum of 20mm of tube is present beyond the module. See the typical layouts at the end of the manual.

Insert 2 part joint into the ends
of both poles as far as possible
then tighten grub-screw to
secure into place

Grub screw

2 Part pole joinerj

B ]
,,,,,,,,,,,,,, )

Sub-array pole

Fit An External joiner over the internal joiner

’— External joiner

e

Module tubes L

Pole joint details, larger module kits only

Internal joiner

Earthing

The module frames are earthed to one another through the stainless steel module clamps and the
structure tubes.

When the structure assembly is completed the array structure should be earthed to ground using a
suitable earth. Use earth rods as required.

000 504 issue 2 Page 11 of 16 August 2023



Tm Type Installation and users Manual BDS
Low level Structures

Parts list
Modular T type structures 2 'X'r‘::;"e ixﬁ?‘i:‘;: fotiidi;iton Leg Ssglger:““d
Components Length | 001061 | 001065 | 001 066 001 067
mm QTry Qry Qry QTyY
Front leg 720 2
Rear leg 1630 2
Rear strut 1040 2
2 Module array poles 2400 2
2 Module extension 2290 2
Ground pole 1200 2
101-2 Short tee 2 1
116-2 Corner 2 1
173F-2 Swivel female 6 3
173M-2 Swivel male 2 1 2
169M-2 foot 2
150-2 internal joiner 2
149-2 external joiner 2
Plastic end cap 4 2 2
Allen key 1
Module clamp 8 8
M6 x 25 hex set screw 10 8
M6 Form C washer 20 16
M6 Nyloc Nut 10 8
M8 x 30 hex set screw 10 8
M8 washer 20 16
M8 Nyloc Nut 10 8
M10x40 hex set screw Galv 8 3
M10 washer Galv 16 6
M10 spring washer galv 8 3
M10 Nut galv 8 3
M10 x 90 through bolt 4

000 505 issue 2 Page 12 of 16 August 2023



Installation and user manual Tm Type

BDS

Low level Structures

0 | 6 | 8 L 9 S | 7 | € | 14 | |
woo FOO NOISY3A NOILYANNOS ‘Sag 40 juesuod Joud JNoYyM PasOISIP BSIMIBYI0 JO 2JNdDINUDW J0) pasn —
“pod U o sjoym ul paidod aq jou isnw Y ‘sag Jo Apedold ayy pup ybuAdos si BuMDIp Siy) /g T
“ysiug -
aN 1Y 8INJONUS JUNON punoI9 usiuy (WWGPL | X WIWQG/ L) [WZ JO 8IS BNPow e uo paseq (1snb puooes ¢) peads pum ubiseq 2207 @ _— /J\\
QQ\A._- wj Jejnpoy “swalsAs [BULIBY) 2[0S PUB Ad PAIUNOW-JO0I UO SPEO| PUIA ‘681 1S9BIP Tug T
Sd A Thbo |oAa| mo| adA] wil 1-1-6661 N3 S8 - sBuipjing Joy sajnu pue TS 10N 00
L 4>npodd sojn [e10U8D :|-|1ed g661 NI SE - SaINjoNuS (931 Jo ubIsaq ¢ 9poooINT
JONVHO Jiva AG NMvHO|3NSSI WWZ0F sjuedd 7 ) ¥} 11661 N3 S8 - SUOROE puim
— WWGOT Woda | - SUONOE [eIBUdD) p-| Wed | 661 NI Sg - S2INjonuls Uo UORJY :8poooIng
onss| uolonpold | zz0z'80°0¢ | syooig L I N 0661 N3 S8 - UBisep einjonuis Jo siseg :8poooin3  BUIPEO| PUIM .

Wi F juied’d ON

Buioeds Ba) | £20z' 1001 | sy00iq L 4 *$20uDJ210]

oo

NOILVYATT3 LNOYA

00¥

o0 |

(sunonuys ajnpow ) 012

(ednnuys anpow v) 0Z.1

NOILVAI13 3AIS
0o 7 0oy 7

400
600

[oAe7]
punoio [euiwon N

Tilt A ngle

‘sjoued apim wwgy ) | Buisn
uaym Buioeds Ba| [eaidA} o) Buimelp JnoAe| a|npow g 0} 8|Npow g 99s

"9|qe|leA. OS[e UOISIaA UOIepunoy UON

2250

1850

|
,
,
f
,
NV 1d |
,
,
,
,
|

"Joawwey jsod a|qeyins e Buisn pajiesul aq o} sajod punois)

‘[aAa] punoib ayy jo Ayjigeyns ay} uodn puadap [jIm
ainjony)s Jad S8NpoW JO Jaquinu WNWIXew ay| "SUoISUd)xa ajnpow
Z ay3 Buisn ‘ainjondys Jad sajnpow g 0} dn 1oy smojje ubisap Jejnpojy

‘sJaug)sey} Buunow ajnpow g *® 9N M/O palddng
WwSy | | 4o yipim e o} dn sjaued Je|os Joj 8|qeing

. (3snB puooss ¢) puodss Jad sanswgy Buipeo| puipy
(eInpow 0} 199[ANS) ,0G-.5 1 9lbue y1L

|99)s ssajulels py  :sBuixyy ‘PO

|99)s ssojuIBlS Py :sloudise

pasiueAjes ysiuiq
|99)s uogle) R pjiw R

‘Bleq ubisaq

August 2023

Page 13 of 16

000 504 issue 2



Installation and users Manual BDS

Tm Type

Low level Structures

0l

6 | 8 L

9 S |

" | €

| ‘ | :

690 woﬁvz

NOISY3A NOILYANNOS-NON

113 SINJONAS JUNO PUNOID

‘ysiul4

adA) Wy Jejnpop
adAh| y3npoag |1oAs] Mo adA] w
JONVHO 31va S
anss| uononpold | zz0z'80°0€ | syooig L | e
Bupeds 657 | £20z°100L | SMooig L | 2 e o

*$80UDJB|O|

NOILVATTE LNOHS

(sunjonus anpow z) 0Lz

(aunjonuys ainpow ¥) 02/

NV1d

1940 £15mm

‘pod Ul Jo 3oy ul paidod ag jou Isnw Y _ _
(WwpeLL X WWzz/ L) AUGE' | JO 82Is 8jnpow e uo paseq (1snb pucoes ¢) peads puim ubiseq ccoc @ —
“SWalsAS [BULIBY) JE[OS PUE Ad PAIUNOW-I00) UO SPEO] PUIA ‘681 159B1p Fug

A punoI [eujiwoN

‘SgQ 10 Juesuod Joud INOUYIM PBsSO|IsIp aSINJBLO O BJNJIDINUDW JO) pasn —
'sag jo Auedoid auy puo 3ybuAdoo st Bumoip syl

L-1-€661 N3 S8 - sbulpiing Joj sejnu pue

Sa|N [eIousD :|-Led €661 N3 S - SINjONIIS [99)s Jo ubisa ‘¢ 9poooINg

o) =166} N3 Sg - suohoe pum

- suonoe [e18U89) v~ Hed 1661 NI Sg - SINJONIIS UO UORDY 1L8poooing

0661 N3 Sg - ubisep [eanjonujs Jo siseq :9poooIng

J193S 1ON 0d

Buipeo] puim

NOILVATT3 3dIS

|oAe

wwgLF 06l

1050

TiltAng,e

150

‘sjoued apim wwigy | | Buisn

uaym Buroeds Bs| [eo1dA} Joy Buimelp JnoAe| ajnpow g 0} 8|Npow g 99s

"8|qe|leAR OS[e UOISISA UOBPUNO) 8}2I0U0D)

0} JeauiBua |IAD [e20] }ns0o ases|d ‘a|q

‘suolIpuod punoib ysijqelse
s ase sadA} punolb |je

jou 9j0N “Jawwey jsod a|geyins e Buisn pajjejsul aq 0} sajod punois

"loAa] punoib ayy jo Ayjigeyins sy} uodn puadap [Im
aInjonu)s Jad SaNPoW JO JOqUINU WNWIXEW 8y "SUOISUBIXd |Npow
Z @y Buisn ‘ainjonus Jad sainpow g 0} dn 1oy smoj|e ubisap Jeinpojy

‘sious)se} Bununow ainpow g’ 9N M/o palddng
WWGH L | Jo yipim e o} dn sjeued Jejos Joj 8|qeyng

. (3snbB puooas ¢) puooss Jad sasewQf Bulpeo| PUIp
(aInpow 03 109[aNg) ,05-.GL  :eIBue JIL

|99)s ssajulels py  sbuixy ‘poy
|99)s sSa|UIBIS HYY  (SIous)se
pasiuenles) ysiui4

|99)s uogJe) @ piw ‘[eusie
‘ejeq ubisaq

August 2023

Page 14 of 16

000 505 issue 2




Installation and user manual Tm Type

BDS

Low level Structures

21n1onJ)s 8|NPoN G

|
009+ | 008} | 009} |

‘abueyo o) pasu
Aew suoneoso| 69| sjaued

B e ) E— Jamodleu Joj ‘(wnuwixely)
I R T w_mcmn_ OPIM WWGY L |
| B — Buisn umoys sjnohe
24n1on.)s 8|NPoA 9 ainjonJis sINPo
ﬁ 0512 ﬁ 0512 ﬁ 006+ ﬁ ﬁ 0061 ﬁ 0061 ﬁ
S O S —— *\\\\\\\\\\\\\ﬁ\i\\\\\\\\\\\\T \n\i\i\i\‘\\ii\\ﬁi\\i\i\\i\i\‘\\W
J8ulor 8j0d L J8ulor 8jod L
24njon.s s|NPoN / aInjonJ)s siNPoA €
ﬁ 002} ﬁ 0002 ﬁ 0002 f 002} ﬁ ﬁ 0%} ﬁ 00v1 ﬁ
ey ] il
ovor s0g | ot oo
| (poumbar 58 Umop 119) 5218 ' (paunbay se umop 3nd) Goge '
24njoN.1s 3|NPOIN 8 24n1oNJ}S 3INPOA Z
ﬁ 0512 ﬁ 0512 ﬁ 051z ﬁ 0061 ﬁ S T—
e —— e s e
hwgcaw_cmL

! oLz '

0re6

August 2023

Page 15 of 16

000 504 issue 2



Tm Type Installation and users Manual BDS
Low level Structures

Commissioning Tests
In order to ensure that the system has been properly installed and will function correctly, the following tests
should be performed immediately after installation.
Support Structure
Check module fasteners are tight.
Check all structure fasteners are tight.
Check tilt angle is correct to within +2°
Ensure array is within £5° of the azimuth specified.

Inspect for any damage to the galvanised steel work; touch up with Galvafroid (or similar) zinc paint as
required.

MAINTENANCE

The following maintenance schedule should be followed at 12 monthly intervals. However, in some areas
prone to excessive dust or bird deposits, module cleaning could be necessary more frequently and can only
be determined taking local conditions into account.

Solar Modules

Check that modules are clean; wash down glass and frames with water. Do not use detergents or
solvents.

Inspect modules for damage; ensure glass is undamaged, and that there are no tears in plastic on back
of modules.

Inspect module junction boxes; check seal is in place.

Array Structure
Inspect for rusting; brush off any rust. Paint affected area with zinc paint.
Ensure all nuts and bolts are tight.

Site

Ensure that arrays are not shadowed by growing vegetation; trim vegetation as necessary.

All Tm type structures are available through UK distributors and are manufactured by.
BDS
Unit 8 Alexander House, Thame road
Haddenham, Buckinghamshire. HP17 8BY UK

000 505 issue 2 Page 16 of 16 August 2023



